

$$1. \begin{matrix} x_u = v & y_u = w & z_u = 1 \\ x_v = u & y_v = 1 & z_v = w \\ x_w = 1 & y_w = u & z_w = v \end{matrix}$$

$$\text{plus in } (u, v, w) = (2, 2, 2)$$

$$\begin{matrix} 2 \times 2 \times 1 \\ 2 & 1 & 2 \\ \hline 2 & 2 \end{matrix}$$

$$2(-2) - 2(2) + 3$$

$$= -4 - 4 + 3 = -5$$

$$(iii) \quad r(0) = (0, 2, 0) \quad r'(t) = (0, 0, 0)$$

$$\int_C f \cdot dr = f(0, 0, 0) - f(0, 2, 0) = -5 \mathbf{i} \mathbf{h} z.$$

$$2. \quad (i) \quad \begin{matrix} i & j & k \\ \frac{\partial}{\partial x} & \frac{\partial}{\partial y} & \frac{\partial}{\partial z} \end{matrix}$$

$$3x^2yz + yz + \cos(x+yz) \dots$$

$$= i \left(\frac{\partial}{\partial x} (3x^2yz + yz + \cos(x+yz)) \right) - j \left(\frac{\partial}{\partial y} (3x^2yz + yz + \cos(x+yz)) \right) + k \dots$$

$$= 0i + 0j + 0k = (0, 0, 0)$$

$$(ii) \quad f = \int (3x^2yz + yz + \cos(x+yz)) dx = x^3yz + xyz + \sin(x+yz) + g(y, z)$$

$$f_y = x^3z + xz + \cos(x+yz)$$

$$x^3z + xz + \cos(x+yz) + g_y = x^3z + xz + \cos(x+yz)$$

$$g_y = 0 \quad h(z) = 0$$

$$f = x^3yz + xyz + \sin(x+yz) + h(z)$$

$$f_z = x^3y + xy + \cos(x+yz)$$

$$x^3y + xy + \cos(x+yz) + h'(z) = x^3y + xy + \cos(x+yz)$$

$$h'(z) = 0 \quad h(z) = 0$$

$$f = x^3yz + xyz + \sin(x+yz)$$



3.

$$1 \leq x \leq 2$$

$$x^2 \leq y \leq e^x + 1$$

$$y = e^x + 1$$

$$x = \ln(y-1)$$

$$(x, y) : (1, 2) \leq y \leq e^2 + 1, 1 \leq x \leq 2$$

$$(x, y) : e^2 + 1 \leq y \leq e^2 + 1, \ln(y-1) \leq x \leq 2$$

$$\int_0^{e^2+1} \int_1^2 f(x, y) dx dy + \int_{e^2+1}^{e^2+1} \int_{\ln(y-1)}^2 f(x, y) dx dy$$

4.

$$f = x^2 y + z \quad g = xyz - 1$$

$$\nabla f = (2xy, x^2, 1)$$

$$\nabla g = (yz, xz, xy)$$

$$(1, 1, 1) = (yz, xz, xy)$$

$$1 = yz \quad 1 = xz \quad 1 = xy$$

$$x = 1/yz \quad y = 1/xz \quad z = 1/xy$$

$$xyz = 1 \quad \cancel{xyz = 1}$$

$$\int_0^1 x^2 y^2 z^2 = 1$$

$$\int_0^1 x(1+x) = 1$$

$$\int_0^1 1 = 1$$

$$\int_0^1 1 = 1$$

$$x=1 \quad y=1 \quad z=1$$

$$f = x^2 y + z = 1 + 1 + 1 = 3$$

5.

$$(x, y, z) : 0 \leq z \leq 1, 0 \leq y \leq z, 0 \leq x \leq y$$

$$\int_0^1 \int_0^z \int_0^y e^{-x-y-z} dx dy dz$$

= 1

$$b. \{ (r, \theta) : 0 \leq r \leq 3, 0 \leq \theta \leq 2\pi \}$$

$$\int_0^{2\pi} \int_0^3 \frac{r^2}{2\pi r^2} r dr d\theta$$

= 1.

how to get r' \theta:

$$7. (0, 0, 1) + t(1, 1, 1) = (t, t, t)$$

$$r(t) = (t, t, t)$$

$$0 \leq t \leq 1$$

$$\Rightarrow r'(t) = (1, 1, 1)$$

$$|r'(t)| = \sqrt{3}$$

$$\int_0^1 \frac{\sqrt{3}}{3} \cdot \sqrt{3} dt = 1$$



8.

$$\sqrt{3} \leq x \leq 1$$

$$0 \leq y \leq 3$$

$$x = \sqrt{\frac{y}{3}}$$

$$y = 3x^2$$

$$0 \leq y \leq 3x^2$$

$$0 \leq x \leq 1$$

$$\int_0^1 \int_0^{3x^2} e^{x^2} dy dx$$

$$= e - 1$$

$$9. \{(\rho, \phi, \theta) \mid 0 \leq \rho \leq 1, 0 \leq \phi \leq \pi, 0 \leq \theta \leq 2\pi\}$$

$$x^2 + y^2 + z^2 = \rho^2 \quad dV = \rho^2 \sin \phi \, d\rho \, d\phi \, d\theta$$

$$\frac{5\pi}{4} \int_0^1 \int_0^\pi \int_0^{2\pi} \rho^4 \sin \phi \, d\theta \, d\phi \, d\rho$$

$$= \frac{5\pi}{4} \int_0^1 \rho^4 \, d\rho \cdot \int_0^\pi \sin \phi \, d\phi \cdot \int_0^{2\pi} d\theta$$

$$= 1$$

$$10. \nabla \cdot \mathbf{f} = \frac{\partial}{\partial x} (\sin \pi y) + \frac{\partial}{\partial y} (\sin \pi x z) + \frac{\partial}{\partial z} (\sin \pi x z)$$

$$= \int \cos \pi x y + z \cos \pi x y + x \cos \pi x z$$

